
MARKING SCHEME 

 (2021-2022) 

      TERM I 

HOME SCIENCE- 064 

CLASS: XII 

M.M. 35        TIME: 90 Minutes 

Q. No.  SECTION A 

1. a. Biometrics

2. b. Food intoxication

3. a. Entrepreneur

4. c. Tertiary level- CHC

5. d. Diet survey

6. a. Aganwadis

7. c. Ministry of Health and Family Welfare

8. b.5 ͦ C-60  ͦC

9. a. Piaget

10. c. Creche

11. c. Food Processing

12. b. Enables only producers to utilise resources efficiently

13. c. Intravenous feeding and to get nourishment

14. b.1964 and abandoned children

15. c. Removal of water

16. d. Mislead consumer

17. a. Ms. Kiran Mazumdar Shaw
18. b. Research and development and Nutraceuticals

19. c. Enzymes

20. b. CARA

21. b. Knowledge of traditional cuisine

22. b.8-12 month

23. b. Every 20 minutes

24. a. Year 1999 and 2003

25. a. Nutraceuticals

 SECTION B 

26. c. Shola Craft-Karnataka

27. b. Diploma in ECE

28. c. Observation home

29. a. A iv, B i, C ii, D iii
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30. b. Respite homes  

31. a. Low protein diet and mechanical soft diet 

32. b. ii and iv 

33. d. i and iv 
34. d. i and iii 

35. a. i and ii 

36. c. i and iv 

37. c. i and iii 

38. a. i and ii 

39. b. ii and iii 

40. c. A is true R is false. 

41. a. Both A and R are true and R is the correct explanation. 
42. b. Both A and R are true but R is not the correct explanation. 

43. d. A is false but R is true 

44. b. Both A and R are true but R is not the correct explanation. 

45. b. Both A and R are true but R is not the correct explanation. 

46. c. A is true R is false. 

47. a. Both A and R are true and R is the correct explanation. 

48. b. Both A and R are true but R is not the correct explanation. 

49. c. A is true R is false. 

                                  SECTION C 

 

50. a. Insufficient rainfall for agriculture 

51. c. ICDS-Annapurna Scheme 

52. d. To prevent both undernutrition and overnutrition and to maintain 

optimal nutritional status of the population 

53. a. IDA 

54. 

 

c. i and iv 

55. b. Both A and R are true but R is not the correct explanation. 
 

https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

	Button30: 
	Button31: 


